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MTH 205, Differential Equations , Exam One
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MTH 205, Differential Equations , Exam Two

Ayman Badawi

QUESTION 1. (i) (10 points) Find the general solution to : 4! + 44 =0

{ii) (10 points) Find the general solution to : ™ + 44 = 42 + 9 You may use (1) above]
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Exant one: MTH 205, Spring 2009 3

QUESTION 3. (15 points) Solve for y(x), y’r(fﬂ) = ezz—fgm Ezm_zry('r) d?‘. y(O) =
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QUESTION 5. (15 points)  Find the general solution to ym} + 29’(2) + y! — 0 USE THE
HOMOGENEOUS METHOD.

- i e
Soludicwn ! Yz e

® e g1}
Char DEY = AL D™ e

e ol Ay "‘-'". i a.
W AYE) =g s M 2 2m Y} = 0

=2 M{M*rt)(mﬂj = & /"' .
e & R = , v — — | L/
|
% Y v
LB =% - A
i 1= };a :
4
2
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